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>> m=100; % Mass

k=30000; % Stiffness :MATLAB )Q odu 43..&9.: d.al.:).:
mus=0.1; % Static friction coefficient

muk=0.1; % Kinetic friction coefficient

x0=1.5; % Initial displacement Response fo initial excitations

t0=G; 1.5

deltat=0.002; % Time increment

wn=sqrt(k/m); % Natural fregquency
fd=100*muk*m*9.81/k;

N=ceil (0.5* ( (x0- (1+mus/muk) *£fd) /fd+1)):; % Half cycles

t=[]): 0.5

x=[1: E

if N>O g

for n=1:N, 0

tl=[tO:deltat:t0+pi/wn]:

x1=(x0-(2*n-1) *fd) *cos (wn*tl)+£fd* (-1) "~ (n+l): e

t=[t tl]: '

x=[x x1];

t0=t0+p1/wn,' 1 1 | 1 i ! | ]
0 0.05 0.1 0.15 02 0.25 03 0.35 0.4

end 1[s]

end

plot(t,x,t, fd*ones (length(t)),'--',t,-fd*ones (length(t)),'--"')

title('Response to initial excitations')

xlabel('t[s]") u

ylabel ('x(t) [cm] ') 5 i 1+—=

Xo—(2n-1f; < - I,

grid ko f



